CBT ANSWER KEY
FEBRUARY TEST -2024

READING

Once upon a time, in a special forest, four friends from class 4 named Emily, Sam, Mia, and Alex
went on an exciting adventure. They followed an old map and explored the forest, where they met
animals that could talk and solved fun puzzles. By working together and being brave, they found a
hidden treasure and had an amazing journey they will always remember.
Q1: Who went on an exciting adventure in the special forest?

a) Class 1 students b) Class 2 students  c) Class 3 students d) Class 4 students

ANS: d) Class 4 students

Q2: What did the friends follow to explore the forest?

a) An old map b) A magic wand

c) A school trophy d) A school assignment

ANS: a) An old map

Q3: From where did the naughty boy come?
a) London b) England c) Scotland d) India
ANS: b) England
Q4: Where did the naughty boy go?
a) London b) Scotland c)India d)Japan
ANS: b) Scotland
Q5. Fill in the blanks with correct describing word.
a) The peacock is bird
a) Ugly b)Beautiful c) Tall d) white
ANS: b) Beautiful
Q6. Find pronoun in given sentence :
a) He stood in his shoes.
a) He, Stood b) b) Shoes, His c) He, his d) In, his
ANS: ¢) He, his
Q7. Choose the correct synonym of “Merry”
a. Happy b.sad
c.anxious d. useful

ANS: a) happy

Q8. Choose the correct spelling:
a)yard b) marrie c)cite d)nsoghty
ANS: a) Yard
QO. Fill the correct letters to make a meaningfulword: ENG _AN _
a) GL b)LD <¢)DE d)R.P
ANS: b)LD
Q10. Choose the correct rhyming word for the given word: Ground
a) Found b)shoes c¢) wonder d) grand
ANS : a) found
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Q1. How many grams are there in 1kg?

a) 10g b) 100 g c) 1000 g d) 10000 g
Answer- c) 1000 g
Feedback:- There are 1000g in 1kg.

Q2. To calculate boundary of any shape/figure, what will you do?
a) Add all the sides
b) Subtract all the sides
c) Multiply all the sides
d) Divide all the sides
Answer- a) Add all the sides
Feedback:- To find the perimeter, we add together the lengths of all the sides.

Q3. If one blue book weighs 300 g and red book weighs 700 g, then what will be the weight of the
following thing ?

Stitching Machine g 5

a) lkg 800g b) 2kg 100g c) 3kg 300g d) 3kg 800g

Answer- d) 3kg 800g
Feedback:- Weight of stitching machine= (1x 300g) +(5x% 700g)= 300g+ 3500g= 3800g
3800g= (3 x 1000)kg + 800 g= 3kg 800g




Q4.Find the length of the boundary of given picture:-

6 metre

9 metre

6 metre

12 metre

a) 24m b)39m c)42m d)36 m

Answer- c) 42m
Feedback:- Length of the boundary=6m+3m+6m+6m+12m+9m=42m

Q5. Tick the most suitable weight for the following :-

K

a) 3kg b) 30 kg ¢) 300 kg d) 300¢g
Answer- b) 30 kg
Feedback:- At the age of 10 years the weight of a boy is approximately 30kg.

Q6. What will be the length of the boundary of a square whose each side is 8 cm?
a) 16cm b) 24 cm ¢) 32cm d) 36 cm
Answer- c) 32 cm
Feedback:- A square has 4 equal sides. So the length of boundary will be 4x 8= 32cm.

Q7. Ryan is shifting to his new home. His father booked a van which loaded the following things in
the van, whose weights are as follows:

Items loaded Weight of each item
Bed 15 kg
Fan 6 kg
Sacks of grains | 60 kg
Sofa 9kg
Table | 4kg
Cooler 7 kg
Refrigerator i 14kg

Find the total weight of all the items:
a) 105kg b) 139 kg c) 92 kg d) 115 kg

Answer- d) 115 kg

Feedback:- Total weight= 15 kg + 6 kg + 60 kg + 9 kg+ 4 kg+ 7 kg+ 14 kg= 115 kg

Q8. Find the number of squares in the given figure:.

a) 4 b) 6 c)8
Answer- b) 6




Feedback- The figure contains 4 fully filled squares and 4 half-filled squares. Therefore, the number
of squares in this figure will be 4x1+4x1/2=4+2=6

Q9.A bag of flour weigh 3 kg. If a chef needs 15 kg of flour, how many bags of flour should he buy?
a) 2 b) 3 c)4 d)5

Answer-d) 5

Feedback:- Number of flour bags= 15/3= 5 bags

Q10. How many squares of one centimetre can fill this blue rectangle?

a) 24 b) 32 ¢) 40 d) 16

Answer- b) 32
Feedback:- There are 4 rows and 1 row is having 8 squares. Total squares= 4x8= 32. So we can say
32 small squares can fill this blue rectangle.

EVS

1. The money used in Abu Dhabi was different and was called :
a) Dollar  b) Dirham c) Rupee d) Paisa
Ans: b) Dirham

most common fruit in Abu Dhabi.

a) Mango b) Coconut c¢)Banana d) Date

Ans: d) Date

3. .Choose the correct value of the currency note:
a)2 b)2000 c)20 d)200
Ans: d) 200

4. The capital city of United Arab
Emirates (UAE) is called

a) Dubai b) Abu Dabhi c) Delhi d) Riyadh

Ans: b) Abu-Dabhi

5.Marietta’s family is quarrelling over — just like they do every day!
a) Food Db) Picnic  ¢) watching TV d) Ice-cream

Ans: c) watching TV

6) Who is hurrying home from her
friend’s house?

a) Pratibha b) Sanjay c) Sandeep d) Marietta




Ans: Pratibha

7) The weather in Abu dhabi and its neighbour countries are very hot, people wear loose
clothes and keep themselves fully covered.

a) Silk  b) Woollen c) Cotton  d) Denim

Ans: ¢) Cotton

8.Mukhtapur village is in the Pochampalli town (mandal) of which state ?
a) Madhya Pradesh b) Telangana c) Tamil nadu d) Kerala

Ans: Telangana

9.Most of the families in Pochampalli town are

a) Doctors b) Engineers c) Weavers d) Gardeners

Ans: c) Weavers
10.The Women in the below picture is wearing famous
a) chanderi b)) Pochampalli c) Banarasi  d) Kalamkari

Ans: b) Pochampalli
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